Revisit - Review - Revise

Copy and complete :-
a 2x8= b 4x7-= & 3x6=
d 5x9:= e 7x10= f treble9:= .

What numbers are missing ?
a 10x..=40 b 3x..=24 ¢ 95x..=30
d double...=18 e 2x..:-14 f 4x..:=32

Copy and complete :-

a 362 bzt 197 c 86
X 2 x 3 X 4
d 79 e 372 f 698
%5 X 4 x b

Fish and chips costs £4 at Toni's.
Last Friday night, Toni sold 238 of them.
How much money did he take in ?

These designer handbags are on sale
at £197 each.

What would it cost for ‘rhé 5 of them ?

Water tanks hold 4 litres of water.

There are 3 trays of them stacked outside a
factory and each fray has 10 tanks sitting on it.

How many litres of water are there altogether ?



